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101. Projectile motion is a combination of horizontal motion with constant ——— and

vertical motion with constanf . .
(A)  Acceleration, veloc1ty S - ‘ A |

M Velocity, acceleratmn : ) ' L S
(C) Displacement, velomty ‘ |

| D) Velocity, displa'lcement

Grg_f')IGurr@m @u.JsasLo GTTUG! LOTDTS —— v Qa;rram_ fevL L. QuSsD LHHLD WLIPTS

Qaresre Gsrax@gg @UJGS&LD .:g,és]mmp)rf)lm FQMa Q,@Lo
A)  Bs&sD, ;ﬂm&@msw |

B) HeosGousid, acLE

©  @uoGuuish, fesGasi

D) HwsCausid, @LLiQuuTss

| 102. Nuclear force is
(A) cﬁarge dependent .
(B)  spinindependent . | | 3 ' .
©) both charée and spin indei)endeni: | _
W spin .de‘pelr.xdent but charge indepen&ent
I EE( aﬁ]m&u.:rrmgj‘ |
F(A) vLﬂG&Tg)jTl'_L.smg &m’r‘@ga‘reﬁg}
B) &gébé]mu s Agrs
© L&be@m'_l_Lb'wg'pgub &g}ﬁ)‘ﬂkmm smipHyngl
» | . D) ‘grgpgbéﬂsoﬂ.r &qfr;’r,@q’rrmgj T LBl L LD &nr’;;‘r,@gng
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- 103. The areaofa semi-circle of radius 7 c.m. is T e

(Aj 7 cm?

B) 777 cm? -
B 17 em?

Dy 7777 cmé

7 Q:m.B. 2T 2_6Ter &mq UL gdlerm Ly
(A) 7Qs.8.2
(B T77G@s.8 2
(C) 77 Qs.8.2 |
®) 7777 Qz.8.”

104. The oxidation of SO:™ to SO} ion by oxygen -
SO;™ + O — SO, in this reaction which is Lewis acid and Lewis base?

A) SOg_ is Lewis acid and oxygen is Lewis base
| W Oxygen is Lewis acid and SO.™ is Lewis base

© Both are Lewis acids
(D) Both are Lewis bases *

@ sdgmens Qaran® SOZ @gd; SOZ” asfgmGanpoi Qe &gga;rr@&s efleneuled,
' 802+ 0 ~» 807

org @muilev Sifleowrsa)id eTg) @nuﬁllab sryrseylb QeuduGEng?

(A) ' SO gndey Sl wHMID A EHger Yruilan Sy

B) ysfigar gnilev Jfieid HHID SO gmnie smob

)  @renEi> grben SfeiiseT

®) @uar@o Qnu.‘ﬂcm STEIEET

GR2AT/17 o 28



. 105. Cyanide resistant respiration is found in
(A) Plants only
- (B) Animalsonly -

© Boﬁh_planﬁs and animals

\ﬂ( Plants dnd Microbes

sounélggeiler swena Gr;_ﬁ.r'rquﬂpciﬂ Beupidle sremiuGEHpg.
(A) gsnmuféjaserﬂd) WL M | |

(B dAengsdo vl @p
(C) sraugriser mmm aga)réj(égsaﬂé)

(D) sreughiseT LHYW @G&T@uﬁlmaaﬁéo

'106. Male sex hormone ‘testosterone’ is producéd by

% Leydig cells

(B) Sertolicells
(©) Germinal epithelial cells -

| -(D) Spermatogonial cells

2,68 ufrgﬁlen‘r gmrrfrCSmrrsiir"Gl_doGu;efo@Gryzrrmqr’ 2 pugf Qsieug
(A) | Qawig & G&d)asdir-

(B) QarCLrened Qecdser

() Qgr’ruﬂe_mb Grﬁlﬁc&u_léi Giscbasén |

D) . v@LIALLCLICsmaRLD Qedsd

B - .29 - ' GR2ATAT
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107. Which one of the folldwing is correctly matched?

L
II.
II1.

V.

Gregor Mendel
T.H. Morgan
C.B. Bridges

J.H. Muller

Neurospora

_ Drosophila

Garden pea

Mice

Sipsaam_cubmyer erg sfwims QunmbS 2 areng;?

I. é\tﬂasrrr’r Quesr_e

L

HI.

@)
®)
©

D)

T.H. wunrésen
C.B. 9fi g

J.H. qpé)a)r'r

II

I

GR2AT/17T -
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4 GrrGemldemr

- Gemiil uwmy
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108. Tax is charged on some items which are manufactured in the country. This is collected by

109.

the Government of India. This Tax is
(A) Direct Tax

B) Indirect Tax )

\9/ Excise Duty

(D) Service Tax

BLb ,rf,rn'_mrﬁ) i,r_f)uggﬂ G&&mﬂﬂ@ﬂaﬁm Qungseraet Awamiier Bg ol eldasiiuGams. g emww

- SEsEEGE Asidlanngl. Sibs cufl

RV g

A) Corgs el

B) mmgﬁ@éz curfl
© seroeaf

D) Coeven il

2
The value of xé —2x x 8x+6
x*+2x x-~2

A)  3x
©) 3x+2
O x-2

x% - 2x g 3x+6s&rmﬁuq‘
2+2x x-2

A 3x |

B 3.
©) Sx+2
D) x-2

31
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110. A bdy is now twice as old as his sister, four years ago, he was thrice as old as her what are

their ages now?

@ - 18,9
) '(B)‘.1_4,7-
N4 16,8
® 12,6

| R eoLiclen sHCuTeng UG Sleuary Shiensuilen auwemslCuI® G WL kG, 4 AT HEHEHEG
- (PETY (U UWIZ) Djeuen FRiamEulen auwangliGLTe f_tpei_ngu WwLRIE aafld, Seuirsarg ‘§p’)C3iJrra5§uJ

QUUWIG) eTeeN?

@) 189"
® 14,7
© 16,8
(D) ;12: 6

111, x¥2.9-16:v/x. What is the value of x?

(A) +16
(B) - %3
© = -

| VB( +12

x¥2:9 =16: Vx araflé> x én wHy erénan?

A 16

® 3 - «
©). 4 - | g

© 12
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112. Total surface area of hollow hem1sphere is equal to’
A ?..z(R2 +7r ) 8Q. umts
® 2z(R*- r2) 8q. units

4 \M ﬂ(3Rz +72) sq. units

® #(3R? = r?) sq. units

2 erafLpm iewgs Carerger Qurssls LHD.I;ILJD'I.:!LI =
(A) 2n(R? +1%) & éuéa@é;&f

B 27:(R2 - r2) . a{é)@ese'n
© (3R2 + r2) &. DAOGEET

©  #3R*-r?)

&. JHOGEET

_ | 113. The probability that a leap yeai' will have 53 Fridays or 53 Saturdays is

1
@ -
2
® 7
N
, .7
4

D 7 ‘

@@ U LA 53 QaudrafiaSlipemwsdr sidag 53 saflsdipmvsad amagparar fapsse srers

@) %
® 2
(@‘.%
®» 3
' T GR2ATN7
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114.  Factorization df‘(x ryf +9(x+ y')+é is
@ (xryeD)(eey)
B (x+y+1)(x+y+8)
© (x+y+,1)(x+'y+'é)-,
(D) '(;+y+s)(x+y+z)
(x+ 5P +9(x+y)+ simmmﬂm
@) (e ys1) (x4 )
B (x+y+1)(x+y+8)
© ‘(;c+y+1)(x+y+6) B

D (x+y+8)(x+y+2)

115. What is the difference between the sum of first ‘n’ odd natural numbers and that of first

‘n’ natural numbers?

n - - nn-1)
@ 241 | N =

n(n +1) A n(n +1)(2n + 15
2 - . (D) 6

(©

wsd 1’ ghop Gud aensafiian meREGD Ws® N Que e aa;@ggz;&@fo 2 girer -

- fgHunad erehen?
n : , ' - n(n-1)
A) 2 +1 | ®) —g
© n(n +1) . ) n(n+1)(2n + 1)

' 2 _ 6
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116. Which of the following is arranged in correct éscending order?

17

\y{ 25% of 8, 40% of 6, 30% of 9, 20% of 15

(B)  20% of 15, 25% of 8, 30% of 9, 40% of 6
(C) 30%of9, 40% of6, 25% of8, 20% of 15

(D)  20% of 15, 30% of 9, 40% of 6, 25% of 8

@@m@m@m@gﬁ crél sfwmen G,rga.lr;ﬂm&uﬁd) DiMDHFleTeng)?
A 8a 25%, - 660 40%, 9é 30%, 15 20%

B) 156 20%, 8a 25%, 9 30%, 66\) 40%

© 9030% 6040%, 8 25%, 156 20%

(D) 15 20% .96 30%, 6 40%, 8 25%

Which of the following is larger in area?
(A) A triangle with base 10 cm and height 8 cm
B) A triaane’ with sides 12 cm, 5 cm énd 13cm .

\‘Q)/ An equilateral triangle whose sides are 10 cm each

(D) ~ Aright angled triangle whose sides containing the right angle are 3 ¢cm and 4 cm

- dereumpauarapper LriueTelld Quiluig erg)?

(A)  Sigiussd 10 Qas, e winb 8 Qs Qaram @&G&n&mﬁ)
(B)  12Qs8, 5 Qa8 whgb 13 AsiS LsshisaT 2 drer WP&CETERTLD

(C)  10Q&s85 ussibd 2-6ten FOUES WPECaTaRTD

D) CerGaramgans aeirdTL.éséluJ usahser 3 Qal wHmb 4 Qab 2 drer wp&Csrentid

35
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118. The arithmetic mean of a group of 75 observations was calculated as 27. It was later found
that one observation was wrongly read as 43 instead of the correct value 53. Obtain the

‘correct arithmetic mean of the data.

(A) 26.13
N - 27.13
(C) 2813
(D) 2513

75 qamsamens Qareim_ om OgraHuilen syrsfl 27 crend semaf L g. Qeny, 53 eTehD GTeRT

saupgors 43 cery LgsstulL g Gerent sardlyssiulL g, aarCa, Si0srgSien sfwuner |

syrafienwns snaamub.
A) 2613
‘® 27113
© 2813
(D) 25.13

119. A sum of money triples itself at 8% per annum over certain time. The number of years is

equal to
A 24
& 25
© 20
® 12 | |
agganen e Hser pig efle) @ GMUG L ééw:rarg 8% aul . eiggHler apempy muﬁsn@;.b
@ 24 | ' | |
B) 25 ‘
© 20 | o ‘

™ 12
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120. Match the following .

| (a) Annie Besant - 1. Kesari

N

() Bipin Chandrapal Common weal
(¢) Boopendra Nath Dﬁtt, 8. The New Asia -

(d ' Tilak . ' 4. Yuganthar

@ ® @ © @

@ 3 4 1. 2
® 2z 1 4 3
© 4 3 1 2
.' \M 2 3 4 1
@u'rrcsraéglé: | .
@ a.araﬂ'épssarg 1. Gssh
() 99én spHrune 2. snmétefé)
©  uGuBSY P 55 3. P
@ fos 4 wemsr
(@ (b? © (d).
@3 4 1 2
®) 2 14 3
(C)4_‘3"'1 2
(D‘)v e 3 4 1
B - o o . GR2AT/17
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121. Before E.V. Ramaswamy Vaikom Satyagraha was ﬁrst stari:ed by three leaders. Tiley were -

() T.Prakasam, TK. Madhavan and K.P. Kesava Menon
| \V T.K. Madhavan, K.P.'Kesava Menon and George Joseph
© Gebrgé Joseph,i'I.‘. Pral;asaxﬁ and T.K. Madhavan | |
(D) KP Kesava‘Menon, T. Prakasam and Geﬁrge Joseph

. @eu. pTFmA&EE aper, GDQ.I&;&I:D &Qﬂmnﬂusémg QrLdidlw epem Smaeuraser a;é.lr'rsa"rrrmgl
4) 4. Qgars, H.Gs. wrgeuer wHpb Gs.9. Casew Guearen
(B) Q Cs. lmngeuésr, GCs.19. Gg&m@mm@&r mp M gigh GegmeLy
(Cj égm'rg Ggrels, &. Grarab wpmbd §. Cs. Lorrgeﬁ'c&r

D) Cs.9. G&s@ Cuenan, §. 197&T&LD HIILD gﬁr’rg CegraUs

122. Who was called ‘The Father of Modern India’?

(A) Ambedhkar |

- (B) ‘Periyar E.V.R
(C) Gandhiji | -

\M Rajafam Mohan Roy ‘ o | S

| ‘pelen @bHuimedeni 355‘;‘5);5’ TeTDEnLp&SLILIHLIGUIT WITT? ‘ -

A)  SuGugsnt | |
B)  ‘Quilwr’ rr.Qay. g
€ smpded

(D)' @anggrymb Cuonsen g
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128. Tambapanni is the old name of
(&)  Tamil Nadu
(B) Kerala
\y Srilanka
(D) Karnataka

swLrenfl ereueil_gsden ueméu.:@uwr’r?

A adpsr@

®) CGayerd
© Bomsr

(D) spILsD

124. Name the journal which declared ‘Swami Vivekanénd the greatest figure in the Parliament’.

(A) Young India
(B) Samachar Darpan
(©)  Swadeshi Mitran

. \’a))’ New York Herald

‘LmyTEBLaDSSen smdpps FUIT NCauaTaBST eTreTm @A L usHNemsden Quui |

@) wh@pdur
B) swrEsr gr’rudf
C) &Czél Sgyen

@Oy Bywris Qapgrar

B ) | _ ' 39
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125. Cultivable lands which has not been ploughed for between one and five years are called as
(A) Culturable waste

(B) Current fallows

M ‘Other fallows

(D) Permanent fallows |

uuﬁiﬂn.é&qw \,ﬂwn‘uaér ééry QPBD g@ggﬁ,&iﬂ@&eﬁ aueny a.;pDLLr‘rg; Qurepg), =g Qeusurgy’
amg&;&uu@m@ o

(A) uwweumpw eﬁ]mm@wlb

®B) ‘[bL..Ile.IYaITQ sfls

© Spshis

(D) - Peawres Cuoiised Hob

126. Tidal forests of Ganga—Brahmaputra delta, mainly consists of

(A) Rhododentrons

\M Hardwood palms

(C) Laurels

(D) Junipers

~ siiens ~QrowysHrr smewunsd er@safid @é&lu_n.brr& STTULHILD LTFaUSWITETg)
(A) GUNGLNQL&Landrdo

(B) &lq T LIS QUME
©) ompéev

®) e
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127. Wh'ich, is wronglyi matéhed? »
() Indo- Eumpean Family - Arya
(B Austnc Family — lehada |
kC) . Drayidian Family — Dravidian
M Sino - Tibetan Fémily - Munda
_' gm;t_r)rrmlaun’(ggggmg s sseyd?
A Qidu g(‘sr’;rrmﬁhu GHbub - c%ﬁ@rr
B) | ety flé @Hbub — ‘rﬂgm_rr» .
(C) Sorefi_ BB — @r,rrrejﬁ]prrv '

(D) ansenm ;ﬂ@u@u@@&@b - Q,psifr;'.rr ‘

128. ————-—— marked the beginning of census taking in India.
(A) " The year 1862
\ﬁ/ The year 1872
(C) The year 1882‘

(D) The year 1892

NmHg @HHuwireslier Lnésseir Qgrens semsQaBY .Qg;nglélauz;nLLg.
(A) 1862w eumLid |

B 1872 augid

©) 18820 aimid

(D) 1892 aumL1d

p s . GR2ATNT
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129. The MRTP Act, 1969 has been repealed and replaced by the competition Act, 2002 with

effect from
(A) 2002 : @7 2009
© 2013 (D) 2016

a.:rrawﬂu ml_smq.a;eoastﬁlcu (i,o,rpguﬂcmm g,sane-r_l_m (MRTP Act), 1969 seng 158 G&u.uuun.m@
GI_IITI_lq.E sl 2002;1)@ @angﬁaﬂ@gjg B pepUBSSILLL &

@A) 2002 ‘  ® 2009

© 2013 | - D) 2016

s

| 130. The basm objectwe of Gandhian plan brought out by S.N. Agarwala was
(A) Agricultural development
B) Growth of cottage and village industries
(C) To achieve equality | ' _
| \jB{ To raise the material as well as the cultural level of Indian masses
- S.N. wisiteura 2 peursfw sTHEW S SH6T gl (S‘I_r,rré;esmrraﬂg |
(A) Ceuemramenio euanias) | - |
B) Eywe wpyb Aymblu Agmlwstisaien auarnisd
©) SOHASDS DL g ' | v
D) @LpQurss @pﬁmneﬁlaﬂ gpeLD HMILD SOTESFTY ;_F,]smuuﬂmm 2 WRSHISD

131. The Iast Deputy Ch.airman of Planning Cothission of India was

(A) Manmohan singh

» (B) Narendra Modi
(C) Arun Jaitley

\M Montek Singh Ahluwalia

- @pPu HlLsE el @uPwner gaars sameeuit
A)  werGurser i
B)  sCrpdy Gomg ,
© e Cgld _ o
D) wreaGLs Sl sigreurellwr | o
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132. The first stage of the strategy related to Intensive Agricultural District Programme was

133.

@) It was launched in 2005

\% All are correct statement

started in the year .

(A)  1951-52 . ' -\ 1960-61

C) 1965-66 R (D 1990-91

Saly wreu L Ceuermedt L ib ,G]g;m__r'rul;rarr wse Ll Qbs cgba;sn@ Feukis Ul L g
@A) 1951-52 | B 1960-61

(©) 1965-66 - » (D) 1990-91

Which of the following statements are correct with regard to Tamil Ne;du ‘Pudhu Vaazhvu

Project’? .

@) It is aided by World Bank
(iii) The total outlay is Rs. 1,667 crores

(iv) It is being implemented in 26 districts

B) (), (i), @ii) are correct
© (G, Gi), (v) are correct
(D). (i), (ii) and (iv) are correct 7 |
guﬁ]@pn@ Siélem ‘Ugl aumpay b’ Gpm_ituiren SpsarL sapmisefles ereneu sflwinateneu?
® @& 1b 2005-6 QFrL_RESILLL S -

(i) - eosandPsHE Pl pell aipiAps:

i) @sparer S Qeeway 1,667 Gamy aumis |

@) OB 26 wraiLisaio @ADL AeubLEEEILOSDE

@)  swwss mbpysEsb s
B) @), (i) wpgd (i) sflurareal

(€©) (i), (i) wpmb (iv) sflurerencu

D) @), G) mg‘pg}nb (iv) sflwreneney -

43 - | GR2AT/17
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134. Whether governor of a state has the power to dissolve’ the state legislature?
W Yes | |
® No
(C) He/She can only recommen(i

(D) Only President can

wrHle sLLWEDSMS SMWEGD AHSTTD TH L EHBIHES adrmgn?'
GV
B) @oow

©) aiufpgenr vl GG Qeiiw Wi u|id

D) ' G4 rE sewaaul L GG Gaiw g b

\

135. In the rules of business of Indian Parliament, if the gpéaker admits, notice of a motion but

no date is fixed for its introduction — then it is called
(A)  Call attention motion

(B) Adjournment motion

©) No confidence motion

\M No day _ Yet — named motion
prLmEhweny e efflsafen Lig, aunpn@m‘r SDWHEHTD, G §r’rmn§r§;ﬂ;bémm Siflsanaanu
Cad @PlidLmoe Qén@@ QugemD - St Asrar® euid SiorensHne eremer Quuwir?
(A)  seuer mirLiy Sioremd | |
B) @sPewcuiiy Stwremnd
©) melﬁ]&G)&uS]G{)é)ﬂ Smorend

D) CsHulever, Quwit GLL iUl L Siorand

GR2ATNT 44 , ' - B



136.

187.

recommendatxon of

A

G.V.X. Rao Committee

\‘B‘)/ L.M. Singhvi Committee

©)
)

Ashqk Mehta Committee .

Balwantray Mehta Committee

 UGETLEE  SIELULESESEE  SrAuomly  SIBSGS

a@astiulL g aps Gepeder ufipgemmuler Quwfa?

@

®)

©
®)

G.V.K. gréu @y

LM. flied gp
alcerré; Cussr GW

vdaupsTTd CSsT G

Supreme Court?

(B) ~ Art. 32
© Art.139
D) Art. 226
Genaugpd GbHu éwﬂwwmwu'ﬂm Gfm em,g 9—&6155' wwmwm@ Apiiy S0 w@mﬂmw THGSD
Sfsrries anphiGAaDE? “
(A) <0136
B) o8f 32
© 9139
D) <0H 226 \

45

Constitutional status to. the Panchayat ‘Raj Institutions was initiated based on the

Qsr@UusHE et  pupasdr

Which Article of the Constitution of India conferred special leave petitions power to the

GR2AT/17
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138. >Ir.1 India, power of Judicial Review is restricteci because the
A) » Executive Vis supreme
(B) Legislature is su’preme
\M Constitution is supreme

D)  Judges are transfe;able
@pfwreiled ﬁ,ﬂﬂumqw@@'&ﬁ&nq& G)JGD)IJ’LIJQ)H.)G'S@I'_LII;_I_@, gLarefa
(A)v | Qeudgiern e wireurang . |
® ‘ JI'_I_QIGD‘j]) o wireuTeng)

(O srfwaeioiy 2 Wireureng

(D) BHudlsar @LLINSDIEES 2 LI L _euigeT

-139. The government of India instituted Bharat Ratna and Padma Shri awards under

(A) Article 14 of the Indian cénstitution
\JB«)’ Article 18 of the Indian constitution
(C) Article 25 of the Indian constitution

(D) Article 32 of the Indian constitution

@pPu sperisd Lngs e wHRG Loy edwmgser — Ak &p
\ L@@ﬂéﬁuﬁmg, . |
@ @hdu orfue sl 9F 14 .

(B) | BpHw 2rflwd L g - 18
(©  @pbusrAud sl af-25

@  @sHu srdlu st o - 32
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, 140. A scfleme to provide Support to Training and Employment of Women (STEP) was launched

in the year
uar)/ 1986 - 87
(B) 1996 -91
(C) 1995-96
@®) 1996 - é7

Quemsefien  LWHA  LHMD CeuepeumiitnSpasman <is7e)  (STEP)  aemp &b

D PSLLGSFUILIL L. U

(A) 1986 - 87 |
] ®B) 1990 .91

(C) .1995 - 96

(D) 1996 - 97

141. Prime Minister of Ind1a inaugurated Ind1a s longest road bridge on May 26 2017 Which

states are connected by this bndge"

M Assam and Arunachal Pradesh

(B) Assam and Manipur

(C) | Assam and Thiripura

@) | Manipur an(i ’I‘hirip.ura

@pHu Gygwgred, Cuo 26, 2017w prar GpHwrelCatu t&s@qm‘ ﬁwﬁmm, #rrmaiu -UTLD é],rp;_r,g |
 DeuGEILLL . i égbg @ wrflokismer @é)m&;éﬁle&rmg?

Q)  EvevTd wHHID el TCHsD |

®) a;é‘naum wHOID weRAliy T

©  wisvevmb bpgpd Hiugm

D)  wefliyf whmbd Sflgr

B | Y | S GR2AT/17
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- 142. In India which organisation’s scientists recently j)roduced electricity from water without -

using energy?

\U” NPL, New Delhi

(B) 1ISC, Bengaluru
(C) TISER, Kolkata
(D) IIT, Chennai

PpHwneiled a5 DieolienLE &mr;r,g eﬁ]@@rraﬂa;ar gwcurrgj ﬁrﬂaﬂ@m@ %,ID[DQ) aglad

vuwseTu ®§§nmm uS]awrrmo 2 auss @Lq.u.u.o e a;swrl_gﬂpgjenammsm?
(A) NPL, ug QLad
(B) IISC, Qurisasesm

- (© TISER, Qarésssr

@) = IIT, Qeenenar

143. In which place Prime Minister of India inaugurated the country’s first Indiain Institute of'
Skills [1IS] on Dec. 20, 2016? |

(A) Ahmedabad
(B) Bengaluru
\47~ Kanpur

(D) Varanashi

webur 20, 20166 Grgw wWEHA Friger waawsars abs QLMo PpHu Sper Hpaagans
[I1IS] greuad meuggmi? ' |

"(A) - ssweTUTS

B) 'Gurém;@@
©) - amemyf

D) eurgemtmé

GR2ATN7 o . a8 | B



144.

Which one of the organisation organised the Gyan Sangam [Knowledge Summit] in
New Delhi on March, 2017? B

\M Prajna Parvah

145.

B) Christ_ian Education Society

(C)  Students 1slamic Movemeﬁt of Indié

(D) Democratic Youth Federation of =IndiaL

q@qmaﬂuﬁlm 2017w %&T@ LonT& IgSde eThg ammﬂq&mm’ﬁ &rﬁ&u’; ;nrr‘m'rrqu.elmGaT [eidley 2 58
wrpr®] g,L_,éSQthJ? ' | '

| (A Qugerr Limireur

B)  Aflavsies sded Hpsb
©) @gﬁu @Gﬁ)e\)rnﬂiu LDITGRT6U & 6T @mé;a;nb

D) EpHu geTETus aimelui Sienoliy

Which of the following aim comes under Prime Minister Krishan Sai Yojana?

(A) Environment

\JB)/- To increase ground water

~(C) - Cloth production

(D) Free food

Qrsw wiHM Hflagern smi Gurgerr S Lot CET&sD eraran?

Q) sppuD BRe
®)  Possu bt Qeflas G

© geflepusd

O - Qoos e

49 _ N . GR2AT/17
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146. Iron Lady of Manipur, Irom Sharmila got how many votes in _thé 2017 Manipur Assembly -

election?

(A) 10 votes ' : B B (B) ~ 30 votes

(C) 60 votes | ‘ M 50 votes

wefiliyfler @mby Quesmoesil Combd Gq.r'nﬁlarr;, 2017 Losuﬂﬁgr'r wrifle &LLLDG&@ Ggr'rg.aﬂ@ Qupm
"Gu‘rré'ségséh CTHSME? | ‘ |
@ : 10 aurs@sar R | » - B) 30 aurs@ser

(©) 60 aurigsen ‘ | . D) 90 auné@ser

147.‘ Which district of Tamilnadu, Chief Minister announced new dental college from the year

2017?
(A) Chennai N , (B) Dharmapuri
’ . \V Virudhunagar =~ (D) Pudukottai

aps vl sHe ydu e omsseus sogrfl 2017-gb BETgd 'ng’_rﬁ:&t; gtﬂ@;ﬁ‘rf@
PEsO@WEET 2_SeTell Heteri? - \
(A) Qeenenen - o B)  smwyf

O dApgpsit - | B | D) uygECsmie '

148. Which one of the following state government has shifted 1ts ﬁnancxal year from [Apnl 1to -
' March 31} to calendar year [January 1 to December 31]? -

(A)  Kerala . _ \ﬁ( Madhya Pradesh
(C) * Punjab - ' k (D) West Bengal

Grpogs o wihle s @bs ﬂ@ c%mlq.oﬂ@gpgl [giire 1 - wié 31] srearit g6y HE [aarmlﬂ 1-
- igFoLT 31)é@ Lorr;pﬂu.;msrrg?

@A)  Gapem | ®)  wiBuGCssd

(C) LghemL ' | D) Cupe aunsbd

GR2ATN7 | ) 50 | B
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'

149. What percentage of total cultivation area in Tamilnadu is rainfed (Manavari)?

A)  55%

& 57%

(C)  54%

D). 52%

- ;5L6]g;;bni;|q_sb ereueueTey ,&g;éﬁgg‘sﬁsb Qurgs

150.

pACOLBHEng?
A)  55% |
(B) 7%

(C) '54% .

D) 52%

Ldr srgugl ul@e  wremarfl  uGHGO

Indiaﬁ Neutrino Observatory is situated in which district of Tamilnadu?

(A) Madurai

 \¥” Theni

(C) Cuddalore

(D) Chennai

(A) LDgl.GIDIJ' :
®) Cpeh
(O sLgnm

D) Qsenamen

51

- @pHw By AGar gpiiaibemi b siilipasHen apE wraLEHO o GTaTg?

GR2AT/17
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151. A superno_va is aﬁ'eXploding star. In which years the last two- supérnova are visible ta the
naked eye? - ) ' |
(A) 1600, 1980
(B) 1601, 1982
&~ 1604, 1987
D) 1605, 1997
@i Gpn@n aranLg @ Qeuy. efl@mBer. stgnrenr LMTMEEE LOUULL S8 @qa%r@ @l
Grreur eThg eu@hL_misafler Osfbsg ? '
A) 1600, 1980
(B) 1601, 1982
| (C) 1604, 1987
(D) 1605, 1997

152. Calculate the dimensions of Planck’s constant ‘k’, using the equation E =hy, where E —

energy and y — frequency -

@  MLT?
& MIT
©) ML-? T2
Oy ML32T? ] ' /

E =hy e swemum el vwetu®ss, Gerris wrhedl ‘h’er leﬂmr[wgm_,sé; 5@7&&@5; QrE

E - 006, 7 —> sifliCeucir

A)  MLT?

® MLPT!

©). ML'F? K
©) MLT

- GR2AT/17 : 4 52 ' ' : B



153.  Which one of the organic pesticides that contain phosphorous?

@) DDT - ) (B) BHC

‘(C) 2,4-D . 1 ' \)B( Parathion

&Gy 2 dreteneusafled GTQ]’UFI'G‘I'Uil‘JIJ'Gﬁ) o Gran gééﬂé@;s;mbeﬁ] ?
(A gy (DDT) - B G.asd (BHO)

| . -(-C) . 2,4-9.(2,4D) v D) LJHIJ'IT§§U.I£I‘&0‘J’ , '

154. -Match the following : '
DAP

(@) Mixed fertilizer | 1. |
(b) Complex fertilizer 2. NPK |
(¢ Bio fertilizer , 3.  Oilcake
(@ Organic r;itrogven' fertilizer 4.  Algae
@ O (© @
@ 1 2 3 4
B2 1 4 3
() 3 2 1 4
D 4 3 2 1
QUTHESIS : o
(@) sy o gl 1L LQ.AGT.IQ. '
() Hésmen o riseT 2. arern.9.Ga.
.(-c), 9_uﬂrr o_(JhiGeT ‘ '3. cramroienn Coé |
(d) &M a)pt.qur o phiser 4. urd
(@ (b () (d)
A 1 2 3 4
® 2 1 4 3
) 3 2 1 4
@ 4 3 2 1
B . GR2ATI1T
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155. In Transmjssion Electron Microscope (TEM) is used to magnify the objects.

(A) Light

(B) . Optical lenses

W Electrons

(D) Scanner

cappae Vg penCarmédude (TEM) — QurmCsmer QUAZILEES
LG GHDg!. . 4 ' |

A)  qef
| B) YPlgsd Quérsvsdr
(©) i gnegsd (Dereargd sfisdr)

D) wCsariser : °

- 186. - The Respiratory quotient value for glucose is -

‘(A) 0.5

\W_( 1.’0 

‘(C) L5

D 20 |

@@é@#r@s&r a;a.m'g. ey iy .

A) | 0.5 .

® L0

© 15 : | » | _ o IR f
®) 20 |

GR2AT/17 | 54 T



157. Which one is wrongly matched pair in their characters?

A) f_’ancreés " | - Glucagon -

(B) -Small intestine - Stomatostatin ‘
\ﬂ/ Tesﬁs ' - Estrog‘eﬁ |

o) Adi'enal rgland - ' Glucocofticoids

%@ésduTL Aurmgsisaiier LisrLsafler &u}uQ@Lu_‘ﬂs‘o TZ Seumnen Gun@g’;g,wrr@m?

(A). SenammiLD - Gesesstér
B) AL , . jdbcgnmLCéLduGqur

(C) lipssn - - | we%u&@q&@ggdr

™) au;ﬁérm sgQ - GEsECHETETTISMEIL_ 6D

- 158.  Which of fh_e following hormone stimulates contraction of uterine smooth muscle?
(A) - Epinephrin

(B) - Insulin

D) Glucagqn

&Q&&eﬁm_m;bggjdfsrﬁg émrrﬁ(?mrréf 5@0@&@6&7 GI_u@ j56304&9&;:;0erri; &@e’s&ﬁ o Hsidlmg?
(A) T 9QpLfGr | | |

- ® . @éraiaﬂér |

. (© _%saaél_ngssr
@) @.@ési_;m

P | o | . 55 GR2AT/LT
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- 159. The% cylinder Whose base is not in circular form is calied
(A) Circular cyIinder
(B) Right ci.rcular cylinder

\#~ Oblique cylinder
(D) Irregular cylinder

| g 2_(menearudler Bl LUTSLD QJl’_l_‘Q.!h'}.GﬂG'D @s’ua»w Taflér Sig) el aep@é&;ﬁu@m?
(A)‘ Gu CL &@_6&)@7 | |
B) GCpieulL a@ms‘rr. |

- (C) | MG 2 (HEDET | :

‘D) puusH 2 mmer

160. 10 sq. m. is equal to
(A) 100sq. cm.
: (B) 1000 sq. cm.

(C©) 10000 sq. cm.

N4 100000 sq. cm.
.10 82 eramugy %rg@@ &LDL'[;'?
(A). 100 Q&L‘Bz.
(B) 1000 Q&8>
(C) . 10000 das?'-
@) 100000 Ges?
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161. A is often drawn as a guide, so that a frequency polygon can be drawn over

the top.
} A F reqﬁency
N Histogram
- (C) Cumulative Fr.equéncy'
. D) Reétangle
. ;ﬁ]&g’p@mm'um@mm& cuenTW @@ auflamiquims (euenyw) @ mUug
@  PspOoen o |
(B) | HapQeuekr QJéJQJSLb.'.'.
©€)  @eley PlapGeusir o | y

(D) . Qscueusid

162. If 100 persons can finish.a work in 7 days, how many persons can finish the same work

35 days? | o
| W 20 persons |
| (B). 50 persons
(C) 30 persons
(D) 2_5 persons | o
100 35 54 65 Cavpaoenis 7 prisafled pia 555 saBib raléd 1G5 Govevvous 35 pr_solc> e
TS SenenL) @ufr(ﬁgmmuu@;‘mfr? . : .
(A) - 20 U sar
" (B) 50myaer.
© 30;%¢m
O 25ase
" o e ' GR2ATN7
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163; - What peréent of an hour is 36 seconds?

A 6%
N4 1%
© 10%
@  36%

36 eflanmy, aarug @ wallle assmear sEeSHD BEGID?

(A) 6%
‘(B). 1%
©  10%
D)  36%

' ] m+n x" n+l x" l+m
N

® -1

(C) xm-md

©

(ﬁ]m-m [iJnH ‘ _xi l+m _
x" xl ‘;' x™ T
@ 1

® -1

(C) xm-i;rwl

©®
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165. If A=+, B=+, C=x and Di——thenwhatlsthevalueof CZB;A;DI_IO.-?
W21
® 12
© 25
® 16
A ﬂsinu:sén&sr + eeteyd, B eenugeen . ‘crmlaqtb,'»'Cv qIIBMEAT X GTeneyld,
D G"GiTI_I?GIDGOT —vcrqrme Ga;rra’fn_rr&) %CZB%AEDE =7
@ 21 f
® 12
© 25
® 16
166. Thévalhgof x+31 xSIf;I’ ?
@ 8x-1 |
B Bx+1)
e 3-1)
D) '3x»v+'2
%3 —1 X +x+1 ngluq
x+3  3x+9 _
@ 8x-1
B) 3(x+‘1')
©  3(x-1)
© sx+2
B » S ‘59»‘ | " GR2ATAT
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167. . What is the 85t term of the sequence x, x7?, X2, x¥2 9

168.

(A)

™

The radius and.the slant height of a cone are reépectively ‘r and ‘7. What is the-‘ volume of =
- the cone? S )
| vél-f:r‘*\/lz -7t
S B T
B) —areNlFE +r
3
©) " =zri - : - '
D) arl+r)
(1 SatbLIGT HyTLD HHILD FTLWIFD Qpa)_gb@w ‘r Logbgﬁb ‘T erafléd smibiNen sarsieTey eTemen?
1 o 2 : :
(A =zrNlP-r . .
®) %‘m?\/‘ Pir
(C)  #rl
D) zr(l+r)
GR2AT/17 60 B



. . S\ ' .
169. ‘ What is the 21st term of the sequence 100, 95, 90, 85..... 7

@ 10
| ® 2

\59)/ 0

® s
100, 95, 90, 85.... crérp Qm_freuflews e 21augy & iy erirem?

(A) 10
® 20
© o

® 5

170. - Simplity: (x22+x;)_éiz—‘ 6)

Q) -x2—9. \ ‘

\‘D( x+3
C x+6
©® x-6

| smhes: — 2 162 T '

(x°+9) 2x-6) .

@)  £=9
®) x+3
© x_+e"

O x-lsi',

e S el - GR2ATNT
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171. If the LCM of x and y is z, whatis the HC.Fof x and y? - .=
oz | oy
© = ‘ . O ®

x,y @m;b;ﬂs'm B.Qumw z aafléd x, y érS.Aumeu. eTénan?

@a 2 - ‘ - ®) e f ‘
V-4 ‘ | Y

© 2 | ® W
x ‘ : .

172.  The number of delegates who attended the first session of the Indian National Congress was

A 25 , ®) 100

N 0 - | D) 2000 -
SpHu Csdlw smiuﬂrmﬁl&r 5o sl Lg QaT_Ad sapbs Aarer tﬂqﬁﬁﬁ&aﬂsﬁ aanefllsamns
@ 25 T C® 100 |

© 172 ' , D) 2000

173. The revolutionary nationalist Nelakanda Brahmachari was born at
" (A) Thirunelveli

(B) Madurai
P Sirkali
D) 'Chennai

yrCAamoren Caflweund feosar tﬂmbl;oiwrrtﬂ i_‘ﬂ;o;isg L
A HmQApeGaudd '

’

B)  wvgey
©) éSramf
D) Qoerenen

GR2AT/17 | 62 o B



174 _ Arrange the following in'chrohologica_l order :
| L Senkuttuvan . o
2. Emagravaramban
3. Kan#ikal Iz"umporai
4 Kuttuvan Cheral : '
W 2148 . ® 4231
" © 21,34 . D) 3,241

‘ ﬂérm@mvmm;bmp S UMTP@PUDSHS :
1 Qe Geen
2. @m@mqthu@
3 | soarsnd GmwGLrap
4 e Geyéd
A 21,43 ~ | B) 4231
S © 21,34 | D) 3,241

175. In Chola kingdoin the revenué déhart‘ment‘wa‘s called as
(A) Perumtharam |
®) Utan Kuttam ’
W Puravuvan
(D) Olai Nayagam
Gomyp BT & QUM SIE0D q&mn@; SipssILLLE? | , . -. : ' .
@  Gugbsmd | |
® eiLdasiin
© ureyaf
@) gow prusi

5 63 o - 'GR2ATNT
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| 176. Where the All India Muslim League was formed in 19067
(A) Mumbai |
(B) Uttar Pradesh
©) Cheﬁnai

| | \sy Dhaka
crrﬂ@ s @BHu paveiid 65 1906-6 gHLGSSILLLS?
@ apweu -

| ® a-égslr Sy Caaib

(C) Qseenan

) L.._rrésas‘n

177. When ‘Swadeshi déy’ was celebrated in India?
(A) 27 May, 1932

(B) 28 May, 1932

\(# 29 May, 1932

(D) 30 May, 1932
Grl;lGurf@gj fﬁG;sél Brer @;Bﬁq.lm‘ild) Gleérraim_'rn_lllu‘tb'_t,gl?‘ '
(A) G 27,1932 | |
(B) | Guo 28, 1932

© G029,1932 ;,

(D) Guw 30,1932

GR2AT117 ‘ ’ 64



178. Who was the first ruler in the Chola-Chalukya line?

179.

(A) RajaRajall =~ (B) Vikrama chola

' W " Kulothunga I

'(Egng — smem&diL eub&uﬁls’o ubs @ﬁQ'JVQHIEG‘UT wmr?

A @uemmb Gymey yrgen B Qﬁlésr,nb Gempen

(© | Wsmb GG itsen D) 8 rrCypdren

The Vaikam Satyagraha arose in Kerala in the year

(A) 1918 - | M 1924

© 1913 o (@) 1928

Ganarmefiéd) eneussib ssHurdlysib per Qupp @G

@) 1918 | . ® 1924
(© 1913 (D) 1928

| D) A_ﬂhi Rajendran

- 180. DPeriyar incorporated the ideas of the justice party and formed a new party,calle‘d

W Dravida Kazhagafn

(B) Dravida Muﬁnetra Kazhagam
(C) Swantara party

(D) Anna Dravida Munnetra Kazhagam

Quitwri fHsa’ Hullen smsgiaman geandlaarsg b UHw sLSlaw SpmdESsHT

(A)  Syrell spsid

B) Hrrel perCardo H&D

C)  sspyr sid

D), iwertw re_f,]r;rréﬁ!t_ penGenpm S8

65
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181. Mercury the smallest planet has only 88 earth days to orbit the sun, because
(A)  Size of the pla_nef ' ' |
(B) - Spinning speed
'\(99’ Distance from the sun
(D) It’s thin atmosphere ’
Lﬂéé’ﬁ;ﬁ]u_l Quigf (Sesrrmrraigj @Nwenen &Hibl euy 88 prasar LDL@GLb 2 fenmgl, Gj@maﬂm
@) sipen sy |
B)  spaub Gausbd
- (©) Glwel8mbgl '&drmvgnmb

D)  sigen Quaeiu uaiineer_eib

182. Match the disasters with its typé and pick the correct answers code :

(a) Blizzards o 1. Hydrological disaster
(b) Tsunamis 2.  Health disaster »

(c) Nuclear accidents 3. Atmospheric disaster
(d) . Pandemic 4. Anfhropogem'c disaster

@ 2

1 4 3
® 2 3 4 1
© 3 1 2 4
_\ga(s 1 4 2

Lﬁ]éTGu@tb GuALFLrPsmer Giger euersLn CLI® Qunmss eflen srens : |

| () uwelluywe 1. BAwe Guyey
(b) %@uﬁuumm 2. ssngmy Cumfley
(©) seduss 3.  euaflwam e Cuyfiey
(d QsrppCGpm 4. wrep Gupey

@ ® © @
) |
®)
©
o)

w W NN

1
3
1
1

N e e
N R = W

' GR2ATN7 . e



183. Despite the substantial improvement in health cdnditions of people in India, there has beén
certain négative. trends due to |
‘1.  High incidence of HIV/AIDS in rural areas |
II. High incidence of HIV/AIDS in urban areas
III.  Growing incidence of Heart diseases and cancer in rural areas -

IV.  Growing inciderce of Heart diseases and cancer in urban areas

- V(A)v All are bcorrect
| @ landIl co;réct
b‘(C) 'Ii and IV correct |
- D) I 11 and IV correct
@pHw wasafien g._é)} Blevaudler seanflzionan Di6TR| @éTGQT[éﬂ)Lb qﬁ)ul'_(geiwr“ Gurrﬁgzgl;b, S
anyemiseTTe) erdioen CuIsE sramiiL@Sng. G'mg'p‘&@u_um,r_i)ﬂ)l;b&@, Qemeumuareuniler sflwrear

eflenL_sener GILO@S.

I.  HIV/IAIDS 4 IJ'H'LDL;J y ;n)rr;lasaﬂd) SHF0OS 2 ETeHred
II. HIV/AIDS paiypiisefic aﬁaﬁmm 2_&Tengmey’
IIL. @g.u.u Gpmis pmid Caenair Agmwos yprsaia sdswrs zeingrrd)

IV, @sw Cemir b Caensit paprisafie Sifaors a_eﬁmgn@

A)  smasgb slures
® Ioppo Mefureg | | -
©) 1II womb IV sflwreng

D) L II wpgubd IV sflwrerg

B - 61 _ GR2ATA7
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184.  Which one of the following matches is correct?

(a) r.I‘hyroid hormoﬁé 1.  Cushing’s disease
(b). | Inéulin A | 2. Myxed.ema

(¢) Cox:ticosteroids 3. Acroniegaly

@ Growtil hormone | 4. Diabetes

@ ® © @,

(A) 1 2 3 4
® 2 4 3 1
© 4 2 1 3

. . . . . ' 1
‘\g)’/ 2 4 1 3 , |
Spsam. Qurmssssle LierTysafien a@ﬂumn.ufﬂe’u eraneu FRlwnaneneu?

() egym@ apriGorer 1. Géiev Gpmi
(b) @enscdlen 2. W&edligiom
() _amilgGasrevegmileay 3. &CrrOwsTed

(d) euemt apnitGomen 4. prfej Crmi

@ b © @

@) 1 2 3. 4
®) 2 : 4 3 1
© 4 2 1 3
® 2 4 r 3
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- 185,

186.

. Which one of the following chahges was not called by the Gandhian model and growth in the

Indian Planning System?

(A) To replace production or1ented plar.mmg with employment oriented plannmg
\V To replace employment-oriented planning with the productmn onented planning

(C) Itisin favour of small scale and cottage industries '

D) Itis aéainst large.scale industries producing consumer goods

Giﬂ"l_i')ﬁ.u_l @@m Hmb euerTFAufieniig @bAw Qﬁl_L&L_.@ pepuld, EpsTaTLMDNET aThs LTHOLD

Campii_eSlevenay? ‘

&) 2pusd srips ﬁLLL&L@&@Q uflens, Géﬁmm Gpné;a;rraf Sl e

(B) | Couenar Gpésme QL‘..L,LIS]I;QIQS@L'J y@a&n& 2 Hrisd) (B‘r_r,r'réas'rrsm_.ﬁl'_L.USh_.d)‘

(Cj é)gS]u_l WHTID @mrm&g Gg,r@lw&@&@é;@é srrgémrramg |

(D) gsﬁ@urr@eﬁ &gpug@ Q&u‘.meQuiﬂu_J an@wwéw;@éa@ ardlyneng,

The word ‘Secularism’ was mserted in the preamble of the constitution after supreme court

of India observed ‘Secularism’ was a basm feature of constitution in

A) 1975
G~ 1973
(©) 1976

- (D) 1981

‘ipg& grmlenenin’ eTenD CUMTHEMS, SIrfu@anioliy] st shar apaiil) el GenemdsiiLlLgHE

apenienGy 2 58 f}ﬁmdsrmfo ‘g ermieneny’ Sirflue@niiyg sl sdar oL@l smpsaid e

ey Sagblu T org?
@A) 1975
(B) 1973
() 1978
(D) 1981
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187. The special status provided to Jammu and Kashmir under Art. 370 limits parliament to

enact laws relating to
M List-I and List-III of th; Seventh Schedule ,
(B) List-1 only of the Seventh Scheciule
© . List-IT only of the Seventh Scheduie
(D)  List-I, II & III of the Seventh Schedule
@S srfuemwiy sl 370 Ly RO wHNL srewst LrfwsdDE Spliy Sipsavg) .
: Qasrr@ésasuuf_@d'rm Pevaruder prmenoapd @b wHHID srepdT wrfle ngL;frqen;uJ UL ThigeT
Buipeg | |
@) Lgwe Toppb I (§pres i Lamar) |
B) ulgwel ‘(q;prra‘@ aLLm@dr) Lm'_@fﬁ
O  ulgwa Il (gypreug a‘.'-t_a.lmaﬁ) (b

D) ulguel I wpmi I (gpres i eamer)

- 188. The idealé of liberty, equality and fraternity enshrined in the preaﬂxble of -the‘ Constitution

of India were adopted under inspiréﬁio‘n frqm the

(A) American Declaration of Indépendenpe ‘ | |
W French Revolution | | ; e

(C) Russian iievoiution ' ‘ |

(D) UN Charter

&sHATD, FwEFeuD, &G&n§ry§gmtb crenn Qamerenssdr @bHHw au&lu@aﬁﬁﬂzﬁl&r @olsmm;rtﬁ]é)
uaﬂgmnar'mmmm THELILLL MOEES SISTHSVTE HHSS 6T5I? | ' .

A4)  2Cwlss efiHgman GrsLemb v
L ®) . 9Gnessuns
©  gegwls Yy

D) g5 5rrésmb

GR2AT/17 | 0 . o B



189. ~ Which one of the following 18 not correct related to the distinctions between the grants under
Article 275 and Artiéle 282 of the Constitution of India?
(A) - The grants-in-aid under Article 275 are statutory whereas under Article 282 they are

discretionary

-

-(B) Under Article 282, the ilnion has the power to provide grants-in-aid even for non-plan
expenditure
(C) Under Article 275, the union has the right to give grants in accordance with the
decision taken on the basis of recommendation of Finance Commission
\LB( Allocation of Grants under Article 282 is based on the recommendation of Cabinet

Committee

QenaumeuaTadmer  eTHES e @(@ﬁlm SirélweenoliLy s fser 275 LDﬁ')Qij‘
282-en &p auprusliL@L wraflubsErss Qo Guwrar Caupurhaer Qgr_itune &lﬂu_lrrﬁ @'sirrg
Sjeve?

A aﬁ@ 275-6& &p. appmsLu@h wrelu 2 g s nuigwang. o4 282-en &P
‘ m@@&ﬁu@@gaﬂﬂuqﬂmmynmg' ' |
B N 282-an &, mgﬁhvaum's@ Ql‘:_l'_Lb.GH'UIT Qevaflenisené@ib e 2_gefl é.lg;rﬁj&;
-aﬁﬁasmb o _¢Temg - |
©) O 2T5-a1 &) B eanusdar Ufbgonddr CuAd a@SSULCL aaisaiar

Sig a9 orefiliBISE@ET CULPTEISEMLD ‘
(D) AS 282-dn &, wiewssrma Guedar Lfsemndd gL g wrelukisemar

QULDRIGEITLD
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-190. Match List I with List II and-select the correct answer using the code given below :

ListI List II
(a) P.A.Sangma 1. Tel.ugu Desam party
® G.MC.Balayogi - 2 CPI (m) o - -
(¢ -Manohar Joshi : 3 - Shiv Sena |

(d Somnath Chatterjee ~ 4.  Congress - |

@ O © (d

@ 2 3 4 . 1

\G 4 1 3 2»

© 2 4 3 1

D) 4 3 1 2 | B

ulgwe I o ar uligwe I g Gurmsd, ulpuasEsses Sy o oten QTG IS HHS) prm

Aen_wGevens pfley Qeuiis.
Ul guwe I L Ltguell
(a) P.A smwr 1. Opgig Cseb sl é
() G.M.C. uraGund 2. 8.9. (wr) \
(© wGamsi Cgraf | 3. gﬂeuG&sufrr
| ) Gombprs s ivgh 4. sl (@)

(a) b - © @

@ 2 3 4 1

®) -4 1 3 2 .
© 2 4 3 1 ;

@) 4 3  1 2 -
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191. Kaviko Arakkattalai Award given to IR - during the year 20i7.
\M Poet Muthulingam
®B) Poet Valramuthu
- (C) ~ Poet Vali

(D)  Poet Vijay

 seféCs D&HLLamemuden aéﬁlé@a;n oAl 2017 ;%Lb &R » QUPBISILILL ).
(A) mﬁj@ﬁ Qp‘é)g}oﬂréja;m ' -
(B) seflEpi enaupapsg
©) seflgyit oured

(D) seilgpr el |

192. What percentage of downtrodden students entrolment in private schools as per Right to.

-Education Act?
W n
®) 26
©y 27
® 28
S a;soaﬁl 2 Aanio &l_l_gﬁesr &Q Grgsgana‘r s5eSs paﬁ]mmppg éllﬂma_l& LAl F @megasd'r gaﬂu_lrrrr

umaﬂsaﬁm Garruu; Gouakr(Hib?,

@ 2

- (B) 26
© 27
D) 28 )
B - 73 o GR2AT/17
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193. Find out the total votes of the electoral college for the Indian PreS1dent1al Electlon 2017.

(A) 11,00, 346 votes

M 11,04,546 votes

©) 12,06,232 votes

(D) 13,00,346 votes

QbHu gemdud cgfrgsb, 2017a8nen Caiigé sdgniier Auonss mﬁés@mm s (Hidly..
A 1 1,00,346 eurg@sen |
(B) 11,04,546 eurré@&;sir

| (C)r | 12,06,232 mn&@&d‘r

(D)  13,00,346 aurg@ser

194. Whlch one of the fo]lowmg is the ‘obJectlve of perspectlve plan 2023"
W Create Employment Opportunity
(B) Digital Technology
(C) Award _ |

(D) Reward
Begr_ a;ra) SL1b 2023 &@é@r;mé&cﬂ@ g vgoésélu_l Cpnés&mn&_s@guu@eﬁmg? '
(A) CeueraaumiiLienL é.@@.rrfés@go‘.)
- (B)  eamog Qgmflemi L
©  &os

(D) senomend
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195.

196.

Which of the following objectives regarding Skill India Mission is incorrect?
(A)  Its objective is to achieve skilling of the youth across the country -

(B) Its aim is to remove financial constraints in accessing skill training programmes

W Under the rﬁission, loans froin Rs. '50,00~O to 1.5 lakh will be avaﬂable to more the

34 1akh Youth of India

(D). The ta'gliné of this mission is Kaushal Bharat

Qan@ésriul_Qararemausafie) Hper @pgﬁun QLL‘Q,‘QW SeUmmest @ﬁlas@a;rren Gl'g;]?

@ - B ep@eugd o drer Gengsirsaior Spear CobLGHECD @,w @@w&mﬂ@w

B)  Spen U“—(']!Déﬂ 5“—'—5@6"7 epeid HFl Gpm iuren geoLsanar .'55(‘55“51 @5“' @3@5@&"9" JCE

©€) @pdwreiier 34 alsbd @Gmm@rre;@e;@ . 150,000 Ws® 1.5, QL&D auphIGeF) @g,a‘r
 Leflungh ) | a

D) smage UTTS TATLZ) STET QS (PPSHLOMEGLD

Which country physicists created a new form of Hydrogen? (Negatively chargéd'hydrogen

cluster)

(C) Australia |
(D) China o ’ | 'v(.
ol ol UL Sieuoi (Biomp B Lb Qsran_ @an rge OFTE0U) T BILE
Qunw® DI EsTEaTTED 2 (HeuTEsILL L g1? ’ ' o :
Q) @pdun

B)  gyavdflwr

(Cj | S eoHCreSlwin

(D) Eanw
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197. Rajiv Gandhi Schooi of Intellectual Property Rights Law is loéated in ~——————— (city) of
. state. - | o -

l (A) Chennai-— .Tamil Nadu

(B) Ujaini - Madhya Pradésh

©) Coéhin — Kerala

\M Khargpur — West Bengalr
prgdeu &mbd iHleysmit .Q&n;.'sgj 2-fMlenio s uetafl Sieniopgeeng - paEflé ————
wrhlasHe. -

(A Gseraen - gOPBIH

B o el - wiHlu GCasy
©)  Qsréfian- Gagorr

(D)  smigy T - GuiHE eukismend

198. Which one of the foﬂdwing is not correctly matched?

(A) Varishtha Pension Bima Yojana -  Social security for old age

(B) Pravasi Karshal Vikas Yojana —  Seeking eniployment in abroad

(C) PM Fasal Bima Yojana - Insuran&e coyerage- to farmers
\,B( PM Gram Sadak Yojana - Emp‘ofa’verment of ruralv women

QsrRasiuLaeaselie apg genny sflwirs QurHbSTE?

(A) aurflevgm Quensen Swor Quirger augreraiisafier sc_lpé UNGISTLIL

B)  YCaf arse eflanew Gurgenr - - - Ga.laﬂg_r;'rrc.qd)ccuma)mrru'.luq CaPaugp®

(O PMunse Som Cuirgenm efleusmudser $>I'I'I;IL|IﬂG:)LD'£L:_L.Lb

D) PM &Qgmo em_s Cuingganm | ) - &rmoyp Quesser der@aﬁbgm.b
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199. When BSE's sensex has reached its maximum 30,000 — mark for the first time in the

~200. '

history?
(A) 26 December 2016

(B) .26 January 2017

&~ 26 April 2017

(D) 26 May 2017

BSE's aitssa yerefl 30,000 — yereflser erenip muojrrrj)g)j 2 WSS WP WPSND 6rpg prafied

T eTLlguigy?

(A) 26 wasibui 2016

B) 26 geraufl 2017
(C) 26 guipé 2017

D) 26Gw2017

The Indian Space Research Organisation (ISRO) successfully tested mdigenously developéd

cryogenic engine on

\'(At)/ January 25, 2017

(B) January 30, 2017

~ (©) April 1,2017

(D) March 30, 2017 -
@pPu fardash grmisd Hpeend (ISRO), uagd @pduredd o GardsiulL
BeorGungenis apArseos Qaipanons Gerpemen Qe prer . - |

Q)  geaufl 25, 2017 ' .

B) gerai 30,2017

©) qug1,2017

D) wmié 30,2017

-
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